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QUESTION 1

Which minimum system privilege allows you to create a trusted context? 

A. DBADM 

B. SECADM 

C. SYSCTRL 

D. ACCESSCTRL 

Correct Answer: B 

 

QUESTION 2

Given the following view definition: CREATE VIEW EMPD AS (SELECT D.DEPTNAME, 

A. LASTNAME FROM DEPT D INNER JOIN EMP E ON D.DEPTNO = E.WORKDEPT); Can an UPDATE statement be
used to update the view EMPD on joined tables DEPT and EMP? 

B. No, an UPDATE statement against the EMPD view is not allowed at all. 

C. Yes, the view EMPD can be updated directly via an UPDATE statement. 

D. No, only a clone of the view EMPD can be updated via an UPDATE statement. 

E. Yes, an UPDATE statement against the EMPD view is allowed if an INSTEAD OF trigger is defined on the view. 

Correct Answer: D 

 

QUESTION 3

When specifying "A" for the acceptance option in the column SECURITY_IN in the SYSIBM.LUNAMES catalog table,
which statement is correct? 

A. An inbound ID is subject to translation. 

B. A request does not need an authentication token. 

C. With this option, VTAM cannot be defined with SECACPT=ALREADYV. 

D. For outbound requests, the encrypted password is extracted from RACF. 

Correct Answer: B 

 

QUESTION 4

When planning for backup/recovery (including disaster recovery), which statement is correct? 
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A. When you remote copy everything (PPRC, XRC) there is no need to take DB2 image copies anymore. 

B. As data is shared in a data sharing group, disaster recovery in a data sharing environment is identical to a non-data
sharing environment. 

C. System level backups (BACKUP SYSTEM) can be used for both system wide restore on a remote site, as well as the
recovery of individual objects locally. 

D. When you want to create a consistent backup point, you must use the -SET LOG SUSPEND command to freeze all
activity, and then take your backups with whatever technology you prefer. 

Correct Answer: C 

 

QUESTION 5

A LOB column with BLOB(40) INLINE LENGTH 40 has been defined. Which statement is correct? 

A. The data is only stored in the auxiliary table. 

B. The data is only stored in the base table. 

C. The complete data is stored both in auxiliary and in base table. 

D. The first part of the data is stored in the base table and second part is stored in the auxiliary table. 

Correct Answer: B 
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